Deutsch / Grammatik
Steigerung der Adjektive (Wieworter)

Ergénze die fehlenden Steigerungsformen dieser Adjektive:
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am weichsten >
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Deutsch / Grammatik
Steigerung der Adjektive (Wieworter)

> => < am seltensten >

> => < am leisesten >

> => < am wenigsten >

> => < am einfachsten >

> => < am schnellsten >

> => < am weitesten >

> => < am tiefsten

> => < am frihesten >
> => < am sichersten >

>=>< am lustigsten >

> => < am schlechtesten >

> => < am steilsten >

> => < am armsten >

> => < am hellsten >
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Losungen
selten > => < seltener
leise > => < leiser
wenig > => < weniger

einfach > => < einfacher
schnell > => < schneller
weit > => < weiter
tief > => < tiefer
frih > => < friher
sicher > => < sicherer
lustig > => < lustiger
schlecht > => < schlechter
steil > => < steiler
arm > => < armer
hell > => < heller
weich > => < weicher

> => < am weichsten >
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